A

Candidate’s Name: K\QD\}C‘(L ..... D_Ku\l\\’f\"\ \K ...........................

Random No. Personal No..

i
!

i
ind
|
i

(Do not write your School/Centre Nume or Number anywhere on this booklet)

54572
CHEMISTRY
Paper 2
Oct./Nov. 2019
2 hours.

Uganda Certificate of Education

CHEMISTRY
Paper 2
2 hours
INSTRUCTIONS TO CANDIDATES:
Section A consists of 10 structured questions. Answer all questions in this section.
Answers to these questions must be written in the spaces provided.
Section B consists of 4 semi-structured questions. Answer any two questions from
this section. Answers to the questions must be written in the answer booklet(s)
provided.
In both sections all working must be clearly shown.
Where necessary use,
[H=1;C=12;N =14, 0 = 16, Na =23, § = 32; Cl = 35.5]
i
: 1 mole of gas occupies 24 / at room temperature.

| mole of gas occupies 22.4 /ats.t.p.

1 213 | 4 5161789 [10]11]12]13]14/|Total

© 2019 Uganda National Examinations Board Turn Gver

For Examiners’ Use Only ’



Random No.

Personal ;\’o.§

4
|

(Do not write your School/Centre Name or Number anywhere on this booklet)

545/2
CHEMISTRY
Paper 2
Oct./Nov. 2019
2 hours.

Uganda Certificate of Education

CHEMISTRY

Paper 2
2 hours

INSTRUCTIONS TO CANDIDATES:

Section A consists of 10 structured questions. Answer all questions in this section.

Answers to these questions must be written in the spaces provided.

Section B consists of 4 semi-structured questions. Answer any two questions from
this section. Answers to the questions must be written in the answer booklet(s)

provided.
In both sections all working must be clearly shown.

Where necessary use;
[H =1; C=12; N=14; O = 16; Na =23; § = 32; C] = 35.5]
1 mole of gas occupies 24 / at room temperature.

| mole of gas occupies 22.4 [ ats.t.p.

For Examiners’ Use Only

1 lalslals|6| 78 |9]10/11]l12]13

14 | Total

© 2019 Uganda National Examinations Board

Turn Over



Random No. Personal \’0

|

|

(Do not write your School/Centre Name or Number anywhere on this hooklet)

545/2
CHEMISTRY
Paper 2
Oct./Nov. 2019
2 hours.

,. \, g

UGANDA NATIONAL EXAMINATIONS BOARD

Uganda Certificate of Education

. CHEMISTRY
i |
o Paper 2
2 hours
INSTRUCTIONS TO CANDIDATES:
Section A consists of 10 structured questions. Answer all questions in this section.
Answers to these questions must be written in the spaces provided.
Section B consists of 4 semi-structured questions. Answer any two questions from
this section. Answers to the questions must be written in the answer booklet(s)
provided.
In both sections all working must be clearly shown.
Where necessary use,
(H=1;C=12; N=14; 0 =16, Na=23; § =32; Cl = 35.5]
i
' I mole of gas occupies 24 / at room temperature.

I mole of gas occupies 22.4 [ at s.t.p.

For Examiners’ Use Only ’

1 2 3 4 5 6 7 8§ | 9 |10 111121 13 14!1‘0&1!

© 2019 Uganda National Examinations Board Turn Over



SECTION A (50 MARKS)
Answer all questions in this section.

1.  (a)  Write the chemical name of rust. (01 mark)

.....i.:....ﬂg@m&?ﬁ....i(@.ﬂ.&!!!).........Q?SS..«.J‘.(?,...,...L/ e

suvrenveen

(b)  State the conditions necessary for rusting to occur. (02 marks)

P&s&\ca-ef()&g@n//y
[e}
............ P 'chafrgmex\//

(¢)  Figure 1 shows a set-up of apparatus that was used to investigate a
condition necessary for iron nails to rust.

Anhydrous
calcium chloride
Cotton wool

Iron nails

Fig. 1

State the condition that was being investigated. (01 mark)

e SN A Aoy Wi Y
(d) State; “foueuid i
(1)  one disadvantage of rust. (01 mark)

- N\q\(u S wav ? e\ojec)s: smadle Gy\\‘bn N ecome &o\\,\“t.

.................................................. b A LA Ot

ACRP any ""Q‘Cﬁw‘\,(iv\tn . Rey ) Wikivertk Lk

(i)  one method of preventing rusting. :5’: iﬁ““ ?b\tzo mark) Rals %ﬂﬁ@“ﬂ
- r , Al ) ~ Snameic i
= Dtt\\"ﬁ\“\?&\mr\mm‘/)‘“ e ::,;"Qitsé?am\e&sq&\ \éb s\ie,m
z. Table 1 shows the mass numbers and atomic numbers vc;f' e\!en ents W ”X
and Y. Study the table and answer the questions that follow. ’
Table 1
Element Mass number | Atomic number

24 12
14 7
39 T




(a)  State the number of;

(1) electrons in the atom of element Y, (01 mark)
19 .2
(i) neutrons in the atom of element Y, (01 mark)

(b)  Write the electronic configuration of the ion that can be formed by the
atom of element Y, (01 mark)
o %‘/“Am‘&)&)g)? M, '2> g> g

(¢)  Identify the group in the I;'eriodic Table to which element X belongs.

(01 mqu"Gm“f ;ﬁvg
hceept .

(d)  Element W reacted with elem nt X'to form a compound Z. State the
type of bond in Z. (01 mark)

v' ol
....,.i?.‘%i%....\emd.«......,..,.........t%e@s%pL.‘,.....EJedquled boend.

3 (@) A metallic element T, reacts with nitrogen to form a compound with
the formula 7; Ns.

(i)  State the valency of 7. (% mark) _

(i) Write equation for the reaction between 7 and chlorine.

.-[- CL T C (1% mark)
%9 2L vy

(®) 3.2 gof Treacted completely with 600 ¢m? of nitrogen at s.t.p.
Determine the atomic mass of s

: 3 (1 mole of a gas occupies 22.4 dm’; T regets With nitrogen in the
F“m S’hﬂ d/\\amﬂ.:h\c. .M‘hog-ario 3:1) (02 marks)

Lncie of Ny @acts wih 2m 0:0%036 woles of Tusagh 2 29
QQ%GDU“GFF N, seadf o T welgy (2.
GODCM?” ef fQ;_ Al react wiy

.........................
.................................................
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4. Clean zinc granules were added to a solution of copper(Il) sulphate.

(a)  State what was observed. (07 mark)

r“% S‘%ﬂ {mf‘\'\qas 0\155(\,@_;\ w tRae \o\w’L &ol Wt\ﬁn u$ (m@‘(

Aao * Blwe (}‘0'“
7. Coudess celudion. south, Gimon. deg S*T 'c(:?‘ K - Broah <ol
‘A<l opt g Colourlasy seludnon + Bramh <ol
(b) Exi;lan‘};f%uﬁ)%wﬁt?é\r{\?n() S (02 marks) ob'ffbst

Z\nc 3 \/\\(5\/\:1} ‘\j\r\ﬂ“ COF?QJ \v\ Q/\Q_Q‘Md\nm\ca\ SQJbQ& \r\szv\C-e ;OL

2 Aplace o Coppa o, SO PR &s‘.)....,s.&el.?ka\m...ﬁ?&»fw le g‘;’w
Cotoudass <olgpen )zm\%/w Wi, G SN Liobn Selidl Co ppes- :

rite equatlon to support your answer in (b )

ZY\ &) CL&SDLf, o9 m—p Z“SO‘* Cq?)—l—c L{(S) *

AQL‘() “«Q ’ “ G Aecibieddaiiinin sl T R S L S s S
Qt \%- Q\ ) Zh \S) ‘\‘ Cu cqz) ——*> Zh QCLCD o Qkk &)
mmonium sulphate dissolves in water according to the following equation:

(NH.), SO.(s)+2H,0() - 2NH,0H(aq) + H,S0, (aq)

(a)  State what would be observed if aqueous sodium

was f\i&d to the resultant SO]UUOH/
L/
%U\b\o Bja a Cﬂ\ﬁm‘ﬁw <ORS:

hydrogencarbonate
(01 mark)

ACcopt ¢

...........................

(b)  Briefly explain your answer in (a).

I‘\\Y\N\Qt\\\u\n QQFWMJ ....... Jdm\j ......................
) &weay lm.sg_l“ aw\ sulsg\mnc GG

(04marks)

.......
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6.  The set-up of the apparatus in figure 2 was used for clectrolysing silver
nitrate solution.

Fig. 2

(a)  State what was observed on the; :
(i)  mietallic fork. (01 mark)

A sdvec Qood‘,f} on. A madslhe fnKe. o

(i)  silver.

...... P\eo\\mmmcxss & ¢

(b)  Write equation for the reaction that took place at the;
(1) e]ectrode with the fork.

............... A\gmcp—r@

(01 mark)

—

(i) electrode with silver. (0

(¢) (1)  Name the process taking place at the electrode with the fork.
(% marks) .

........................ Q(c’xm?\o»tﬂ &'3,

(if)  State one use of the process in (©)(i). (l mmA)
.
e * P
Elh?w“lﬁts"uit\ A.on wWonmetahs:  T5Y
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3 : inge.
e was no further chang
7. Lead(I) carbonate was heated until there Was (1% marks)
(a)  State what was obscrved.

'\//( \
l w2 Wl and
w...\'.“.'.".‘.‘:.t"?-\./..(\?owo\e/« Tuins W S.... a. elle. 28 3 A

......................... g

Suduke 5 . o\
‘{Ao\(;g\,\‘/(\om\;w\ o CDO&LVﬁ .......... 8

............................. ’\.’..,....,.......-- ¥ i 10 n‘)lxturc hcatcd
(b)  Magnesium powder was added to the residuc and tl

o J o Lo
strongly. Write equation for the reaction that took place. (/7% marks)

OU\"2
-
I
(c)  The experiment in (b) was repeated using copper turning ins
magnesium powder,

(i)  State what was observed. (01 mal'/i
i _ =

. t\\°05wm§o\ee«wv¢9ﬁ//

(i)  Give a reason for your answer in (c)(i). (01 mark)

-
Cog)\w\&\o@&hﬂn\Qac\\hm&a%in Seriag

.................................

8. When ammonium chloride was mixed with potassium hydroxide and the
mixture heated strongly, ammonia was evolved

‘ (a)  Write equation for the reaction legdirg%to the formation of ammonia.
AC QQ“)( ) \\* all Staln Sy ahTle ‘\Q§' L '

’."YHL Ty wWoesngy Sty Sy g3
AW W Agug gUS S el \_\ R g j(‘} E&nai‘k&)

Aoserts. N e D ap — NS @t KO,

....................

(b)  Ammonia was bubbled through zinc sulph
no further change.

() State what was observed.

A e
- e Torecadete cofubda T excore fovmi
A Cﬂwv{u&&c&dm ‘ ¥
(1)  Give reason(s) for your observanon(s)m(b)(x)(077/x)
7 < Marks)
91'2 a:mw\tsntcf\‘_‘gi.)‘\.‘&ﬁ\.%....fﬁk‘..ﬂ\f\..” :

s I e Ay

ate solution untj] there was

(1% marks)
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ACQQJ\)‘\’) any Lqui VadanCe <— Pessuce

\‘“&%M"ef “Qﬂdw’%uwo\u?wwdtw A
(b)  During an experiment to determine the rate of production of carbon

dioxide from calcium carbonate at room temperature, the volume of
carbon dioxide varied with time as shown in the graph in figure 3.

=<
P
I
1
'
i

(cm?)

i

S

- -4

ﬁé (s)

Volume of
carbondioxide

ek
oS & Sk [ pepp—

&
(]

Show how the rate of the reaction at time T can be determined.
(02 marks)

PREE]

P}@.‘%..ﬁ&’ Recehon = ot

..............................

.......................

s R0 JESARL. (S LA
v

WO
(c)  State two factors other than temperature that can affect the rate of a )
reaction. (02 marks)

\guffa&qm%wmc,ﬁﬁ?\,/w——*
Ca | o=

KLC) Wt -
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10.  (a)  Write equation for the complete combustion of carbon. (1% marks)

(b)  If 80 kg of charcoal cost UGX. 20,000. Calculate the cost of charcoal
required to produce 163,750 kJ of heat energy.
(C = 12; The enthalpy of combystion of carbon = -393kJmol”)

(03 marks)

’ <O 20,00
- 393KS of e T 088, o, St o 20,00 \V

................................

»r( 500%.:; 5K3.

(c)~ State one use of charcoal other than fuel. (% marks)

e R mVWﬁS&«fﬁxﬂm A\ animel Sugv
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